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THE RISE OF A GLOBAL WORLD

Write in brief

Q1: Give two examples of different types of global exchanges which took place before the seventeenth century, choosing one example from Asia and one from the America?
Ans: When different cultures interact, there usually, technologies as well as goods exchange hands. In fact, cultural and trade relations sowed the seeds of the modern world and imparted the overall process of globalization. Many historians agree that the period from 1400-1800 A.D marks the beginning of modern era. This era saw an enormous extension of networks of communication and exchange that linked individuals and societies more and more tightly. 

ASIA: The Silk Route (114BCE – 1450’s)  played a vital role in global exchanges. Buddhist and Christian missionaries and Muslim preachers travelled over this route to different parts of Asia and Europe to propagate their faith. Food products serve as good example of such exchanges. Goods, people and ideas travelled thousands of kilometers between Asia, Africa and Europe along the route, including Chinese silk and pottery, Indian textile and south-east Asian spices.
AMERICA: In the Western Hemisphere, the Great Dying cause massive social, economic, and cultural upheaval in numerous American societies. The arrival of Europeans in the America transformed the natural environment because the newcomers brought with them new species of all types, including many food plants, several domestic animals and an array of weeds. For example, wheat was unknown to the people of North America, Portuguese and Spanish brought germs such as those of smallpox which proved a deadly killer for America. It killed and decimated whole communities, paving the way for conquest.

Q2: Explain how the global transfer of diseases in the pre-modern world helped in the colonisation of the Americans.

Ans: The Portuguese and Spanish conquest and colonisation of America was made by the mid- sixteenth century. This conquest was not just a result of superior firepower but because of the most powerful weapon that the conquerors were carrying with them. It was the germs as those of smallpox which they carried. America's original inhabitants had no immunity against these diseases. Smallpox for them proved a deadly killer. It spread deep into the continent. It killed and decimated whole communities, paving the way for conquest.

Q3: Write a note to explain the effects of the following:

a. The British government's decision to abolish the Corn Laws. 

Ans: With the abolition of the Corn Laws (1815 – 1846), food imports flowed into Britain. Local producers were shocked to find that imported food grains were cheaper than the local produce. British agriculture was unable to compete and cultivation declined steeply. Thousands of workmen, thrown out of the work, either flocked to towns or migrated overseas. The fast pace of industrialization was able to absorb these immigrants into the expanding workforce, and because workers' income had increased, the low prices of food grains in Britain sent consumption soaring to new heights. 

b. The coming of rinderpest to Africa.

Ans: One of the severe problems in colonising other countries of Africa was that of finding the right kind of recruits from within local population. Africans believed only in cattle wealth, Europeans found it very hard to persuade the natives to work for money.

It was by accident, Rinderpest took a hand. Carried by infected cattle imported from British Asia to feed the Italian soldiers invading Eritria in East Africa, Rinderpest entered Africa from the eastern ports. It reached the Atlantic coast in 1892 and the Cape, five years later. In this short period, Africa lost 90% of its cattle wealth. Beggared and impoverished, the natives were left with no alternative but to serve under Europeans. Their own economy lay in ruins. To press their advantage, Europeans imposed heavy taxes and inheritance laws were also changed, where only one member of the family was allowed to inherit land, so the rest of the family members were forced to enter the labour market. Fate and cunning European enabled colonizers to conquer and subdue Africa.

c. The death of men of working- age in Europe because if the World War.

Ans: About nine million people died and another 20 million was injured in World War. Most of the people who perished or were maimed (wound or injure so that the part of the body is permanently damaged) in battle were young men of working age - 'the flower of Europe'. As the result, the able- bodied workforce of Europe was decimated. With breadwinners dead, many household incomes dipped sharply after the Great War. Most of the industries had restructured to produce wartime goods, employed a large number of additional workers, mainly women. Now the process had to be reversed, slowly and painfully.
d. The Great Depression on the Indian economy.

Ans: By the early 20th century, the global economy had become integrated to the extent that the effects of the Great Depression were felt worldwide. India's economy and society were badly affected. Peasant and workers were the main sufferers. Between 1928 and 1934, India's exports and imports halved. Price of agricultural goods dropped sharply, across India, peasants' indebtedness increased. 

Wheat price fell by 50%. Peasant who produced tea, jute, etc. for the export was the worst sufferers. The jute producers of Bengal were the worst hit, the export of gunny bags almost stopped. The price of jute, crashed by 60%. Peasants were ruined as they fell into a debt trap.

All over India, peasants use up whatever savings they had accumulated, some of them sold or mortgage land to pay revenues. Some were trapped by money lenders; others had to sell their precious jewellery and household metal-ware to meet their expenses. India exported precious metals, mainly gold. This helped the British economy to recover. The famous economist John Maynard Keynes believed that Indian gold exports promoted global economy recovery.

 The depression, however, brought smile to the faces of people with fixed incomes such as middle class salaried employee, their purchasing power increased. The industrialists were happy too, as the government gave terrific protection to industries. 

e. The decision of MNCs to relocate production to Asian countries.

Ans: Multinational Corporations (MNCs) are large companies that operate in several countries at the same time. Many MNCs which had a presence in many European countries found the cost of production too high and the profit margin too low. As a result, from the late 1970s MNCs began shifting their production basis to Asian countries, were workers' wages were relatively low. It helped the Asian countries in solving unemployment problem and helped to boost economy. The relocation of industries to low-wage countries stimulated world trade and capital flow. 

Q4: Give two examples from history to show the impact of technology on food availability? 

Ans: Knowledge of technology perfected industrial processes with mass - production and automation. Such improvements were often resulting of large, social, political and economic factors. The impact of technology on food availability can be seen by:-
1. Railway brought food from country to town, delivered raw materials to factories, and distributed manufactures from factories faster and in greater quantity than any earlier means of transport. They linked inland areas with ports, helping to increase international trade, perishable goods could now reach their destination faster, it also provided employment.

2. Refrigerated ships and rail-cars were used to transport perishable foods over long distances. Now animals were slaughtered at a distant land and frozen meat was transported to different parts of the world.

Q5: What is meant by Bretton Woods Agreement?

Ans: After the WW II, the politicians and economists of the world held several rounds of negotiation and finally agreed upon two key points: 

i) Future international conflict had to be stopped and
ii) An international economic order had to be established to ensure recovery and reconstructions, and to obviate future international economic crises such as the Great Depression. The formal resolution gave birth to the UNO, while the latter led to the IMF (International Monetary Fund) and the World Bank.

 The main aim of the post war international economic system was to preserve economic stability and full employment in the industrial world. Its framework was worked out at the United Nation Monetary and Financial Conference held in July 1944 at Bretton Woods in New Hampshire, USA. The famous conference was held at Mount Washington Hotel situated at Bretton Woods that is why the IMF and the World Bank are known as the Bretton Woods institutions or Bretton Woods Twins. This conference established the IMF to deal with external surpluses and deficits of its member countries. The conference set up International Bank for reconstruction and development or World Bank. So, the post war international economic system is often called the 'Bretton Woods System'.

Discuss:-
Q6) Imagine that you are an indentured India labourer in the Caribbean. Drawing from the details in this chapter, write a letter to your family describing your life and feelings.

               OR

Describe the life of an indentured Indian labourer in the Caribbean?
Ans) Indentured Indian Labourers were hired under a contract which promised them return travel to India after they worked five years on employer's plantation in the Caribbean. Most of the workers were Indians and they were from eastern Uttar Pradesh, Bihar, Central India and the dry regions of Tamil Nadu.They were provided false information by agents about the nature of work and living and working conditions. On arrival at the plantation, they found conditions to be different from what they imagined. Living and working conditions were hard and there were few legal rights. If they tried to escape in the wilds, they were caught and given severe punishment.     

Q7) Explain the three types of movements or flows within international economic exchange. Find one example of each type of flow which involved India and Indians, and write a short account of it.

Ans: A new economic order started to take shape within international economic exchange:

1. Those countries that were self-sufficient in food production had to import food grains, because of new pattern of food production and consumption. Urbanization and population growth had pushed up the demand of food grain. So the first type of flow was the flow of trade mainly in goods, especially wheat and cloth.
2. With the decline of cultivation, thousands of workmen were thrown out of work. These workmen either flocked to towns or migrated overseas. The fast pace of industrialization was able to absorb these immigration into the expanding workforce. Thus the second type of flow was the flow of labour in search of employment.

3. New settlements sprang up around new cultivated land and industrial areas. Capital flowed from financial centres such as London, to finance all these activities. Thus the third type of flow was flow of capital either for short term or long term investment.

Involvement of India and Indian in international economic exchange.

a. Flow of trade: India had been carrying trade with other regions from very remote past. When we study about the Indus Valley Civilization, Indians used to trade with Mesopotamians. We also study about the trade done through Silk Route. 

b. Flow of labour: In colonial rule between 1842 and 1870 lots of Indians immigrated to the British and French colonies. Thousands of Indian laborers went to work on plantations, in mines and in road and railway construction projects around the world. 

c. Flow of capital: Many Indian entrepreneur establish business in foreign lands during the colonial period. They used their own money besides borrowing huge sums from Europian banks. Several Europeans established their factories in India. As a result, flow of capital involving India and the European countries began.

Q8: Explain the causes of Great Depression?
Ans: The Great Depression was the worst ever economic crises to seize the world. It originated in the US and spread all over the industrial world. Many factors played a role in precipitating it.

1. The single most important one was the greatly unequal distribution of wealth throughout the 1920s. The gap between the lifestyles and consumption pattern of people was huge. Wages were not keeping pace with the high productivity in industry. Industry owner did not have to pay high wages, so they made huge profits. But who will buy the products? For economic to function properly, the demand supply balance must be maintained. By the end of the 1920s there was over supply of goods but not enough money to buy them. Americans did not have enough money to satisfy all their needs, they rushed to buy them on credit. The concept of buy now, pay later caught on fast. By the end of 1920s, cars and radio sets e.g. were bought on installments. The outstanding installment credit doubled between 1925 and 1929.

2. The American economy was heavily reliant on luxury spending and investment from the rich. This could go on as long as the rich had confidence in the economy. But vast sectors of Americas industry were poor and most of the industries which prospered in the 1920s were linked one way or the other to the auto mobile or radio industries e.g glass, rubber etc. This was dangerous because people could not buy a limitless number of cars and radios. The only thing people buy endlessly is food and by 1920s America’s agriculture was in ruins.

3. A major source of America’s instability was the international wealth distribution problem. America prospered in the 1920s; the European countries were struggling to rebuilt their economy after World War I. During the war, Americans had lend its European allies about $10.3 billion. More than 90% of its lone were used by the European to purchase American goods. At the same time American protected its products by leaving high rates of custom duty. Europeans were unable to prosper and repay the American debt.

4. A culture of speculation came to prevail across America. People began to play the stock market in the hope of making huge profits with which to wipe out old loans. This speculation pushed up the price of shares. But the stock market boom was not based on strong fundamentals. Many corporations with huge share prices were actually not doing very well. By mid-1929 shares were over-valued and their prices began to fall they fell so fast that people rushed to unload whatever share they had. By 'Black Tuesday' (29th October 1929) share prices fell so much that there were no buyers available at any price. The stock market crash caused the wealthy 'few' of America to lose confidence in the economy. They stopped spending on luxury items and slowed investments. The middle classes and poor could no longer pay off their old loans, much less to take new ones to purchase cars and radios. Lack of demand affected the entire industrial sector. And so, industrial production fell dramatically. As a result, there was widespread lay-off of labours. This phenomenon soon spread to Europe and other parts of world, which were dependent on the US for investment. Unemployment figures grew from 5 million in 1930 to 13 million in 1932, over 1000 banks had closed, and thousands of depositors lost their savings. Between 1929 and 1932, about 110,000 companies collapsed.

Q9) Explain what is referred to as the G-77 countries. In what way can G-77 be seen as a reaction to the activities of the Bretton Woods twins?

Ans) Most developing countries did not benefit from the fast growth of the Western economies experienced in the 1950s and 1960s. Therefore they organized themselves as a group-the Group of 77 countries refer to a G-77-to demand a New International Economic Order (NIEO).By NIEO they meant a system that would give them real control over their natural resources , more development assistance , fairer prices for raw materials , and better access for their manufactured goods in developed countries' market.

Reaction of G-77 to the activities of Bretton Woods Twins

In order to preserve economic stability and full unemployment in the industrial world, the United Nation Monetary and Financial Conference was held in 1944 at Bretton Woods in New Hampshire, USA .In this conference two international institutions were set up , namely the International Monetary Fund (IMF) and International Bank for Reconstruction and Development (IBRD or the World Bank) , sometimes called as Bretton Woods Twins

1) Since the IMF and World Bank had been established by the developed countries, decision-making in these institutions is controlled by the Western industrial powers. The US has an effective right of veto over major IMF and World Bank decisions. The developing countries have no say in these institutions.

2) The IMF and World Bank were designed to meet the financial needs of the industrial countries. They were not equipped to cope with the challenges of poverty and lack of development in the former colonies.

3) As colonies, many of the less developed regions of the world had been part of Western empire. Now, as newly independent countries facing urgent pressures to lift their population out of poverty, they came under the guidance of international agencies dominated by the former colonial powers. Even after many years of decolonization, the former colonial powers still controlled vital resources such as minerals and land in many of their former colonies. Large corporations of powerful countries often managed to secure the rights to exploit developing countries' natural resources 

Lesson No. 4

The Age of Industrialization
Write in brief

Q1) Explain the following:

a) Women workers in Britain attacked the Spinning Jenny.

Ans) The advent of the new machinery changed the gender division of the labour in the textile production. Before the Industrial Revolution, women spun yarn using a spinning wheel. Men did not spin because men's greater strength was more valuable in other occupation. With the introduction of new technology, the fear of unemployment made workers hostile. When the Spinning Jenny and Mule-spinners were introduced in the woolen industry, women who survived on hand spinning began attacking the new machines. This conflict over the introduction of the Jenny continued for a long time.

b) In the 17th century merchants from towns in Europe began to employ peasants and artisans within the village.

Ans) In the 17th century merchants from the towns in Europe began moving to the countryside , as they could not expand production within town because

i) Urban crafts and trade guilds were more powerful.

ii) There were associations of producers that restricted the new people into the trade.

iii) Rules granted different guilds the monopoly right to produce and trade in specific products. It was therefore difficult for new merchants to set up business in towns. So they turned to the countryside.

c) The port of Surat declined by the end of the 18th century.

Ans) Before the age of machine industries, silk and cotton goods from India dominated the international market in textile. Coarser cotton were produced in many countries, but the finer varieties often came from India. A vibrant sea trade operated through the main pre-colonial ports, Surat on the Gujarat coast connected India to the Gulf and Red Sea Ports. A variety of Indian merchants and bankers were involved in this export trade.

By the 1750's this network was breaking down. The European gradually gained power-first securing a variety of concession from local courts, then the monopoly rights to trade. This resulted in a decline of the old port of Surat through which merchants had operated. Export from the port fell dramatically, the credit that had financed the earlier trade began drying up, and the local bankers slowly went bankrupt. In the last years of the 17th century, the gross value of trade that passed through Surat had been Rs 16 million. By the 1740's it had slumped to Rs 3 million.

d) The East India Company appointed gomasthas to supervise weavers in India.

Ans) During the latter half of the 18th century , the East India Company wanted to corner all the benefits from the export of India cotton and silk fabrics. For this purpose, the Company appointed paid servants called gomastha to supervise weavers, collect supplies and examine the quality of cloth. The gomasthas who were Indians in the employment of company, they were assigned the task of dealing with weavers directly and sign a bond not to deliver goods to others. Gomasthas were also entitled to fix the rate of goods, which were less than the market price. In case an artisan refused to accept the proposals of a gomasthas, he was punished. Soon, however, in many villages there were incidents of clashes between weavers and gomasthas.

Q2) Write true or false against each statement:

a) At the end of the nineteenth century, 80% of the total workforce in Europe was employed in the technologically advanced industrial sector. False
b) The international market for fine textile was dominated by India till the eighteenth century. True
c) The American Civil War resulted in the reduction of cotton exports from India. False
d) The introduction of the flying shuttle enables hand-loom workers to improve their productivity. True
Q3) Explain what is meant by proto-industrialization.

Ans) Proto-industrialization is a phase in the development of modern-industrial economies that preceded, and created conditions for the establishment of fully industrial societies. Proto-industrialization was marked by the increase involvement of agrarian families in market-oriented craft production, mainly through the putting-out system (cottage industry) organized by merchants capitalists. It was a decentralized method of production which was controlled by merchants. Proto-industrialization led to specialization in both industrial production as well as commercial agricultural production. It resulted in accumulation of capital. It sparked social change in traditional agrarian societies, such as greater independence of women and children, who gained income separated from family. During the phase of industrialization, machines were not used. They were not even invented at that time. People could only use their hands, or any handmade material to produce required goods.

Discuss

Q1) Why did some industries in 19th century Europe prefer hand labour over machine?
Ans) Some industries in 19th century Europe prefer hand labour over machine because:

a) In the countryside poor peasants and artisans began moving toward cities for jobs which resulted in plenty of human labour with low wages. So industrialists had a good opportunity to employ them in their factories. They did not want to introduce machines which required large capital investment.

b) In many industries demand for labour was seasonal. Gas works and breweries were especially busy through the cold months. So they needed more workers to meet their peak demands. Book binders and printers, catering to Christmas demands, too needed extra hand before December. Winter was the time when ships were repaired and spruced up. So industrialization usually preferred hand labour, employed workers for season.

c) In the 19th century, there was demand of goods with intricate designs and specific shapes. The upper classes especially the aristocrats and bourgeoisie preferred things produced by hand. They came to be symbolize refinements and class. They were produced carefully with beautiful designs and finish made by labours.
Q2) How did the East India Company procure regular supplies of cotton and silk textile from Indian weavers?
Ans) The economic policies followed by the British led to the rapid transformation of India's traditional economy into a colonial one whose nature and structures were determined by the needs of British economy.

The cotton-weaving and spinning industries were the worst hit. Silk and woolen textile fared no better. During the latter half of the 18th century the East India Company wanted to corner all the benefits from the export of Indian cotton and silk fabrics. For this purpose the Company appointed a paid servant called 'gomasthas' to supervise weavers, collected supplies and examine the quality of cloth. The gomasthas who were Indians in the employment of Company, they were assigned the task of dealing with weavers directly and sign a bond not to deliver goods to other. Gomasthas were also entitled to fix the rate of goods, which were less than the market price. In case an artisan refused to accept the proposal of the gomasthas, he was punished. Soon, however, in many villages there were incidents of clashes between weavers and gomasthas.

Q3) Imagine that you have been asked to write an article for an encyclopedia on Britain and the history of cotton. Write your piece using information from the entire chapter?
Ans) The revolution in agriculture had started before the Industrial Revolution, which resulted in the development of a period of high productivity and low food price. This meant that the typical English family did not have to spend almost everything it earned on bread , and could instead buy manufactured goods.

 England faced increasing pressure to produce more manufactured goods. The cotton textile industry played a crucial role in the rise of England as an industrial nation. No other industry has advanced so far and so quickly. Although the putting-out system (cottage industry) was fairly well developed across the continent, it was fully developed in England. In 18th century , this system could no longer keep up.

There was a constant shortage of thread, so the industry began to focus on ways to improve the spinning of cotton. Several newly invented machines and equipments were involved in each step of the production process-carding, twisting, spinning and rolling. They enhanced the output per worker, enabled each worker to produce more and made possible the production of strong thread and yarns. Steam power also promoted important changes; engine was fired by coal, so spinning factories could be located virtually anywhere.

Aided by revolution in agriculture, transportation, communication and technology, England became the first 'industrial nation'. Thus cotton became the most dynamic industry in Britain.

Q4) Why did industrial production in India increased during the First World War?
Ans) The First World War broke out in 1914. Before the war industrial growth in India was slow. But the war created a dramatically new situation. Almost all the British mills started production to meet the needs of British army. Consequently, Manchester imports into India were stopped. It gave a golden chance to the Indian industry to produce goods for home supply. 

British mills were not able to cater to the war needs of the British army. So , as the war  prolonged , Indian factories were called upon to supply to the army jute bags , cloth for uniforms , tents and leather boots , horses and mule saddles and a number of other items. As a result, many new factories were set up , many new workers were employed and workers were made to work longer hours. All this resulted in an increase of industrial production in India.
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